Team _____________________

Member(s) absent ___________

In-Class Case #1A

Chapter 1

ABC Company is an accounting firm.  It showed the following activities for the past period.

a.
Provided consulting services and billed the client $40,000.

b.
Provided tax services for a client and received $10,000.

c.
Paid employees for services rendered, $25,000.

d.
Received office supplies and a bill from the supplier for $3,000.

e.
Used $2,000 of office supplies to provide services.

Required:


1.
Determine the income for ABC Company using the cash basis.


2.
Determine the income for ABC Company using the accrual basis.


3.
Which basis do you think gives a better representation of income?  Why?

Team ________________________

Member(s) absent ______________

In-Class Case #1B

Chapter 1

Describe, in your own words, each of the following elements of accounting.  Use the accrual basis and give at least two examples of each element.  For example, donations from owners are represented by owners’ equity.


a.
Asset


b.
Liability


c.
Owners’ equity


d.
Revenue


e.
Expense

Team ___________________________

Member(s) absent _________________

In-Class Case #1C

Chapter 1

Determine whether the following items would appear on the income statement (I), balance sheet (B), or statement of cash flows (CF).  For each group, explain the difference among the items listed.

_____
Inventory, ending balance

_____
Cost of goods (inventory) sold during the period

_____ 
Cash paid to suppliers during the period

_____
Accounts payable, ending balance

_____
Accounts receivable, ending balance

_____
Cash received from customers

_____
Sales

_____ 
Wage expense for the period

_____
Wages payable, ending balance

_____
Cash paid for wages during the period

_____
Property, plant, and equipment, ending balance

_____
Cash paid for property, plant, and equipment during the period

_____
Cash received from selling property, plant, and equipment during the period

_____
Depreciation expense during the period (expense of using property, plant, and equipment during the period)

_____
Notes payable, ending balance

_____
Cash received from borrowing money during the period

_____
Cash used to pay off notes payable during the period

_____
Interest expense during the period (expense of using borrowed money during the period)

Team ________________________

Member(s) absent ______________

In-Class Case #1D

Chapter 1

Use the information shown below adapted from Hewlett-Packard’s 2008 annual report (in millions) to calculate the following ratios:


1.
Current ratio


2.
Debt to equity ratio


3.
Return on sales ratio

Cash





$10,153
Short-term investments


         93
Accounts receivable, net


  19,242
Inventories




    7,879
Other current assets



  14,361
Accounts payable



  14,138
Accrued and other current liabilities

  38,801
Long-term debt



    7,676
Other long-term liabilities


  13,774
Common stock and paid-in capital

  14,036
Retained earnings



  24,906
Net revenue (sales)



118,364
Cost of revenue (cost of goods sold)

  89,592
Operating expenses



  18,299
Provision for income taxes (expense)

    2,144
Team _________________________

Member(s) absent _______________

In-Class Case #2A

Chapter 2

Use the following information to prepare a bank reconciliation.

Check register—June

	Date
	Check paid to
	Check #
	Amount

	June 1
	D.C. Manufacturing
	6141
	$237.50

	June 8
	G.B. Manufacturing
	6142
	12.45

	June 10
	Allservice Photo
	6143
	89.93

	June 22
	L.E. Publisher
	6144
	447.50

	June 25
	B.T. Tools
	6145
	386.84

	June 28
	R.C. Construction
	6146
	289.35

	June 30
	L. Bros.
	6147
	2,250.00


Additional information in the accounting records:


Beginning cash balance

$4,258.93


Add: 3 deposits made during June
  7,676.17 (one deposit was made June 30)


Less: 7 checks written during June
  3,713.57

Ending cash balance


$8,221.53

Bank Statement—June

	Date
	Activity
	Increase
	Decrease
	Balance

	
	
	
	
	$5,678.93

	June 1
	Check #6140
	
	$1,420.00
	4,258.93

	June 5
	Check #6141
	
	237.50
	4,021.43

	June 11
	Check #6142
	
	120.45
	3,900.98

	June 25
	Check #6144
	
	447.50
	3,453.48

	June 26
	Deposit
	$1,507.06
	
	4,960.54

	June 30
	Check #6145
	
	386.84
	4,573.70

	June 30
	Deposit
	1,458.55
	
	6,032.25

	June 30
	NSF check
	
	525.00
	5,507.25

	June 30
	Service charge
	
	 5.50
	5,501.75

	June 30
	Interest earned
	8.61
	
	5,510.36


Additional information in the bank records:

1.
Check #6140 was a reconciling item in the May bank reconciliation.  

2.
All checks and deposits are correctly recorded in the bank records.

Team _____________________________

Member(s) absent ___________________

In-Class Case #2B

Chapter 2

Use the information shown below adapted from Hewlett-Packard’s 2008 annual report (in millions) to calculate the following ratios for 2008:


1.
Return on investment


2.
Quick


3.
Return on owners’ equity


4.
Gross margin


5.
Accounts receivable turnover and days in the collection cycle


6.
Inventory turnover and days in the selling cycle


7.
Accounts payable turnover and days in the payment cycle







    2008
   2007
Cash and cash equivalents


$  10,153     
$11,293
Short-term investments


           93
       152
Accounts receivable, net


    19,242
  15,927
Inventories




      7,879
    8,033
Other current (nonliquid) assets

    14,361
  11,997
Long-term assets



    61,603
  41,297
Total assets




$113,331
$88,699
Accounts payable



$14,138
$11,787 
Other current liabilities


  38,801
  27,473
Long-term liabilities



  21,450
  10,913
Stockholders’ equity



$38,942
$38,526
Sales





$118,364
Cost of revenue



    89,592
Gross margin




$  28,772
Operating expenses



    18,299

Earnings from operations


$  10,473

Team ______________________________

Member(s) absent ____________________

In-Class Case #3A

Chapter Three

Example Company has provided you with the following information concerning its production runs and setup costs.

	Data Point
	Production Runs
	Setup Cost

	1
	6,000
	$26,000

	2
	6,500
	$27,000

	3
	7,500
	$30,000

	4
	3,500
	$17,500

	5
	4,000
	$23,000

	6
	5,000
	$23,500

	7
	8,500
	$32,500

	8
	5,500
	$24,000


1.
What is the variable cost per production run?

2.
What is the fixed cost per period?

3.
If Example Company plans 5,300 production runs next period, what is the estimated setup cost?

Team __________________________

Member(s) absent ________________

In-Class Case #3B

Chapter 3

Example Company used linear regression to determine the relationship between the number of production runs and its setup costs.  The following results were obtained.

	SUMMARY OUTPUT
	
	
	

	
	
	
	

	Regression Statistics
	
	

	Multiple R
	0.967883116
	
	

	R Square
	0.936797725
	
	

	Adjusted R Square
	0.926264013
	
	

	Standard Error
	1249.517382
	
	

	Observations
	8
	
	

	
	
	
	

	 
	Coefficients
	Standard Error
	t Stat

	Intercept
	10110.32864
	1684.255533
	6.002847216

	Production runs
	2.636932707
	0.279619118
	9.430444966


1.
What is the variable cost per production run?

2.
What is the fixed cost per period?

3.
If Example Company plans 5,300 production runs next period, what is the estimated setup cost?

4.
Evaluate the strength of the relationship between production runs and setup costs.

Team ______________________

Member(s) absent_____________

In-Class Case #4A

Chapter 4

A company has set its initial selling price at $28 per unit.  Its variable manufacturing costs are $10 per unit produced.  Its variable selling and administrative costs are $2 per unit sold.  The company’s fixed manufacturing costs are $300,000 per period and its fixed selling and administrative costs are $150,000 per period.  The company’s target profit is $200,000 per period and it is subject to a 20% tax rate.

a.
What is the breakeven point in units?

b.
What is the breakeven point in dollars?

c.
How many units must be sold to achieve the target profit before taxes?

d.
How many units must be sold to achieve the target profit after taxes?

In-class Case #4A Continued

e.
If the fixed costs increase by 20%, how many units must be sold to achieve the target profit after taxes?

f.
If the variable costs per unit increase by 20%, how many units must be sold to achieve the target profit after taxes?

g.
If the selling price per unit is decreased by 10%, how many units must be sold to achieve the target profit after taxes?

h.
If the tax rate decreases to 18%, how many units must be sold to achieve the target profit after taxes?

i.
If the tax rates increases to 30%, how many units must be sold to breakeven?

Team ______________________

Member(s) absent_____________

In-Class Case #4B

Chapter 4

35 Flavors operates an ice cream and frozen yogurt business.  The owner is concerned because the yogurt business seems to be losing money.  The owner has provided the following information concerning the yogurt business.



Sales





$26,000



Less: cost of yogurt mix


    8,000


Gross margin




$18,000



Less operating expenses:




Wages of counter personnel

    7,000




Utilities



    2,500




Supplies (cups, spoons, etc.)

    4,500




Depreciation of yogurt freezers
    1,500




Rent on building


    2,000




Manager’s salary


    2,000


Profit (loss) on yogurt business

$(1,500)

A cost analysis reveals that ½ of the wages of yogurt counter personnel will be eliminated if the yogurt line is discontinued because the manager will take over many of the counter duties. Should the owner discontinue the yogurt product line?

Team _____________________

Member(s) absent ___________

In-Class Case #4C

Chapter 4

A company currently makes a product (Product A) that requires a component part #445.  The costs to make the annual requirement of 100,000 units of Product A produced in 200 batches:


Direct materials


$60


Direct labor



  20


Total manufacturing overhead
  10

Total unit cost



$90

A supplier has offered to supply the needed component part #445 for $8.50 each.  If the company accepts the supplier’s offer, its direct material costs will decrease by 10%, its direct labor costs will decrease by 25%, and its unit-related overhead will decrease by 30%.  In addition, if component #445 is not produced internally, the number of batches required will be reduced by ¼.

An analysis of the total manufacturing overhead reveals that unit-related overhead is $5 per unit, batch-related overhead is $1,000 per batch, and facility-sustaining overhead is $300,000.  There is no product-sustaining overhead.  

a.
Should the company accept the supplier’s offer?

b.
Assume that if the company accepts the offer, it can use the released space to increase the production of the different product.  This increased production will increase profits by $300,000.  Should the company accept the supplier’s offer?

Team ______________________

Member(s) Absent ____________

In-Class Case #5A

Chapter 5

Case 5A Company estimates its annual demand for a diamond blade at 256,000 units.  Its inventory-related costs consist of the following:

Cost to insure, receive, and check in an order
$       480

Cost to place an order




           20

Cost to insure a unit in inventory


             3
Cost per unit in inventory due to damage

             1
Depreciation on the storage facilities per year
  100,000

Depreciation on equipment used to move


Inventory (annually)



    40,000

Cost of each unit purchased



      1,500
What is the economic order quantity?

Show the proof of the EOQ by determining the total carrying costs plus the total ordering costs at the EOQ point, at 9,000 units, and at 7,000 units.
If Case 5A Company desires a safety stock of 200 units, it operates 300 days per year, and its lead time is 3 days, what is the reorder point?

Team ______________________

Member(s) Absent ____________

In-Class Case #5B

Chapter 5

Case 5B Company plans to reward its managers using a bonus based on income.  The bonus rate has been set at 10 percent and the bonus base is net income after taxes (after bonus).  Case 5B Company estimates its income before bonus or taxes at $500,000 and its income tax rate at 20 percent.

What is the estimated bonus amount?
What is the estimated net income after taxes?

What is the estimated cash outflow for Case 5B Company assuming that both the income taxes and the bonus are paid in cash during the current period?

Team ___________________________

Member(s) absent _________________

In-Class Case #6A

Chapter 6

ABC Company wants to maintain an ending finished goods inventory of 15 percent of the next month’s expected sales.  It wants to maintain an ending direct materials inventory of 10 percent of next month’s production needs.  It takes 2 pounds of direct materials to make one unit of finished goods and direct materials are expected to cost $3 per pound.  Beginning inventories are 500 units of finished goods and 2,000 pounds of direct materials.
Estimated sales in units for Months 1 – 6 are shown below:


Month 1
5,000


Month 4
5,000


Month 2
6,000


Month 5
6,500


Month 3
4,500


Month 6
7,000

Required:

1.
Prepare a production budget for months 1 - 4.

2.
Prepare a direct materials purchases budget for months 1 -3.

Team ___________________________

Member(s) absent _________________

In-Class Case #6B

Chapter 6

ABC estimates that 80 percent of its purchases will be paid in time to take advantage of a 2 percent discount offered by suppliers.  The remaining purchases will be paid in the month of billing.  ABC’s suppliers bill purchases on the first day of the month after purchase.

Estimated direct material purchases for Months 1 – 4 are shown below:


Month 1
$29,865

Month 3
$27,840

Month 2
$33,930

Month 4
$34,215
Required:

1.
Prepare a cash disbursements schedule for months 2 – 4.

2.
Prepare an accounts payable schedule for months 2 – 4.

Team ___________________________

Member(s) absent _________________

In-Class Case #6C

Chapter 6

Without using numbers, prepare a diagram that shows the content of and linkages among each of the following sets of budgets/schedules.

1.
Sales budget, cash receipts schedule, accounts receivable schedule

2.
Direct materials purchases budget, cash disbursements schedule, accounts payable schedule

Team ____________________________

Member(s) absent __________________

In-Class Case #6D

Chapter 6

XYZ Company has estimated its sales for the next year as shown below:

	Month
	Sales
	Month
	Sales

	January
	$55,000
	July
	$85,000

	February
	60,000
	August
	95,000

	March
	70,000
	September
	75,000

	April
	80,000
	October
	105,000

	May 
	90,000
	November
	65,000

	June
	100,000
	December
	50,000


XYZ estimates that 20 percent of its sales will be cash sales.  An additional 40 percent of total sales will be paid in the month of sale and will receive a 1 percent discount.  Finally, 38 percent of total sales will be collected in the month after sale.  The estimated uncollectible sales will be deducted in the month of sale.

Required:

1.
Prepare a cash receipts schedule for Quarter 2 (April, May, and June).

2.
Prepare an accounts receivable schedule for Quarter 2 (April, May, and June). 

Team___________________________

Member(s) absent____________________

In-Class Case #7A

Chapter 7

Determine the effect of the following events and prepare the income statement and the statement of retained earnings.

1.
The company issues capital stock for $90,000.

2.
The company borrows $40,000 from the bank.

3.
The company pays its rent for one year in advance, $18,000.

4.
The company buys inventory for $30,000 on account.

5.
The company sells inventory costing $20,000 for $40,000 on account.

6.
The company pays its employees $1,000 for services rendered.

7.
The company buys inventory for $50,000 cash.

8.
The company sells inventory costing $40,000 for $80,000 cash.

9.
The company collects $20,000 from customers on account.

10.
The company pays $25,000 on account.

11.
One month of rent has expired.

12.
Dividends of $2,000 are paid.

Team ______________________________

Member(s) absent ____________________

In-Class Case #7B

Chapter 7

Determine the effect of the following events and prepare the statement of cash flows and balance sheet.

1.
The company issues capital stock for $90,000.

2.
The company borrows $40,000 from the bank.

3.
The company pays its rent for one year in advance, $18,000.

4.
The company buys inventory for $30,000 on account.

5.
The company sells inventory costing $20,000 for $40,000 on account.

6.
The company pays its employees $1,000 for services rendered.

7.
The company buys inventory for $50,000 cash.

8.
The company sells inventory costing $40,000 for $80,000 cash.

9.
The company collects $20,000 from customers on account.

10.
The company pays $25,000 on account.

11.
One month of rent has expired.

12.
Dividends of $2,000 are paid.

Team ______________________________

Member(s) absent ____________________

In-Class Case #7C

Chapter 7

Review the following journal entries and prepare the income statement, statement of cash flows, and balance sheet.


Cash






200,000



Capital stock






200,000


Prepaid equipment rental



48,000


Cash







48,000


Prepaid facilities rent




72,000



Cash







72,000


Direct materials inventory


          144,000



Accounts payable




          144,000


Work-in-process inventory



80,000



Direct materials inventory




80,000


Work-in-process inventory (labor)


40,000


Cash







40,000


Work-in-process inventory



60,000



Accounts payable





60,000


Finished goods inventory


          130,000



Work-in-process inventory



           130,000


Selling & administrative expense

            12,000



Cash






             12,000


Accounts receivable



           160,000



Sales






           160,000


Cost of goods sold



           100,000



Finished goods inventory



          100,000


Work-in-process inventory


              10,000



Prepaid equipment rental




4,000



Prepaid facilities rent





6,000

Team ________________________

Member(s) absent ______________

In-Class Case #8A

Chapter 8

Jones Company, a manufacturing firm, experienced the following inventory activity during the period:

Day 1

Purchased $9,000 of inventory from Edward Company, terms 2/10, n/30.

Day 5

Paid $500 freight on the purchase from Edward Company.

Day 10

Paid for the inventory purchased from Edward Company.

Day 15

Purchased $14,000 of inventory from Smith Company, terms n/60.

Day 18

Purchased $7,000 of inventory from Doe Company, terms 1/10, n/30

Day 31

Paid for the purchase from Doe Company.

Required:

1.
Record these events using the gross price method and the periodic inventory system.

2.
Record these events using the gross price method and the perpetual inventory system.

3.
Record these events using the net price method and the periodic inventory system.

4.
Record these events using the net price method and the perpetual inventory system.

5.
Compare the ending inventory resulting under requirement #2 to that of requirement #4.

Team ______________________

Member(s) absent ____________

In-Class Case #8B

Chapter 8

The following account information was gathered from Jeffco for April.





             Ending         Beginning
Accounts payable


$65,000
$86,000

Accrued liabilities


  12,000
    7,000

Inventory



  25,000
  18,000

Prepaid insurance 


    6,000
    5,000

Prepaid miscellaneous expense
    1,000
    3,000

Utilities payable


    2,000
    3,000

The following expenses were incurred in April:

Cost of goods sold




$645,000

Insurance expense




    17,000

Utilities expense



                11,000

Miscellaneous expense



  248,000

Required:

1.
Determine the cash paid for inventory during April.

2.
Determine the cash paid for insurance during April.

3.
Determine the cash paid for utilities during April.

4.
Determine the cash paid for miscellaneous expenses during April.

Team __________________________

Member(s) absent ________________

In-Class Case #8C

Chapter 8

Keneco Company, a merchandising firm, experienced the following expenditure process events during a month.  This company uses the perpetual inventory system and the gross price method to record inventory purchases.  The following events occurred:

1.
Purchased $30,000 of inventory on account, terms 2/10, net 30.

2.
Purchased $10,000 of inventory on account, terms 1/10, net/30.

3.
Paid for a one-year insurance policy, $1,200.

4.
Paid the rent for the month, $800.

5.
Employees are paid. Gross payroll for the period is $20,000.  Assume a federal income tax of 15 percent, a state income tax rate of 5 percent, a FICA rate of 7.65 percent, a FUTA rate of 0.8 percent, and a SUTA rate of 5.4 percent.  

6.
Paid for the inventory purchased in #1 above within the discount period.

7.
Paid for the inventory purchased in #2 above after the discount period.

8.
Recognized that 1/12 of the insurance policy has expired.

Team ________________________

Member(s) absent ______________

In-Class Case #9A

Chapter 9

Robinson Company had one job in process at the beginning of the period (Job A).  During the period, Robinson began work on Jobs B, C, and D.  At the end of the period, Jobs A and B had been sold, Job C was finished, and Job D was still in process.  Direct labor is paid $12 per hour.  Robinson applies overhead to jobs based on machine hours.  The budgeted overhead for the year was $500,000 and budgeted machine hours were 40,000.  The inventory balances at the beginning of the year were:



Direct materials inventory

$140,000



Work-in-process inventory

  235,000



Finished goods inventory

         -0-

The following relevant events occurred during the period:

1.
Purchased direct materials costing $105,000.

2.
Issued direct materials into production:



Job A

$25,000



Job B

  80,000



Job C

  70,000



Job D

  50,000

3.
Issued indirect materials into production, $15,000

4.
Used direct labor hours



Job A

  5,000



Job B

10,000



Job C

  8,000



Job D

  6,000

5.
Used indirect labor, $150,000

6.
Other overhead costs incurred, $275,000

7.
Machine hours used 



Job A

  4,000



Job B

16,000



Job C

10,000



Job D

  6,000

8.
Selling and administrative costs incurred, $200,000

9.
Selling prices determined 



Job A

$560,000



Job B

  610,000

Required:

1.
Determine the cost of each job.

2.
Determine the profit before taxes for the period (don’t forget under- or overapplied overhead).

3.
Determine the ending inventory balances.

Team ___________________________

Member(s) absent _________________

In-Class Case #9B

Chapter 9

The following annual budgeted information is available for Walker Company.

	Activity
	Estimated Cost
	Cost Driver
	Estimated Usage

	Using machines
	$720,000
	Number of machine hours
	20,000

	Managing quality
	600,000
	Number of inspections
	5,000

	Setting up machines
	360,000
	Number of production runs
	36

	Packing
	480,000
	Number of units
	50,000

	Assembling
	240,000
	Number of direct labor hours
	100,000

	Using factory
	2,500,000
	Square feet*
	250,000

	Ordering
	620,000
	Number of orders placed
	49,600


*Note: Using the factory is a facility cost, square feet are only used to allocate the cost.

During the month, Walker consumed the following cost drivers for its 2 products:

	
	Product A
	Product B

	Machine hours
	1,000
	600

	Inspections
	240
	150

	Production runs
	1
	2

	Units produced
	2,000
	2,000

	Direct labor hours
	4,000
	4,000

	Square feet
	100,000
	150,000

	Number of orders
	1,250
	3,000


Required:

1.
Calculate the manufacturing overhead rate for each cost pool.

2.
Determine the overhead allocated to each product line.

3.
Determine the overhead cost per unit for each product line.

Team ____________________________

Member(s) absent __________________

In-Class Case #9C

Chapter 9

Use the following data to analyze the company’s operations using variances.

Budgeted data:


Direct materials

2 pounds per unit at $5 per pound


Direct labor


½ hour per unit at $12 per hour


Production


100,000 units

Actual results:


Direct materials

300,000 pounds purchased at $4.50 per pound,






220,000 pounds used in production


Direct labor


48,000 hours used at $12.50 per hour


Production


105,000 units

Team _______________________________

Member(s) absent _____________________

In-Class Case #9D

Chapter 9

Use the following to answer the questions below.

Direct materials price variance


15,000 F

Direct materials usage variance


32,000 U

Direct materials inventory variance


16,000 U

Direct labor price variance



  7,000 U

Direct labor usage variance



10,000 U

Actual direct materials purchased


15,000 at $15

Direct material standard quantity per unit

12 liters

Direct labor standard price per hour


$20

Direct labor actual price per hour


$22

Answer the following:

1.
What was the standard price allowed per liter for materials?

2.
What was the actual quantity in liters of materials used in production?

3.
How many units of finished goods were produced during the period?

4.
How many labor hours were actually worked during the period?

5.
What was the standard number of labor hours expected per unit?

Team ________________________

Member(s) absent ______________

In-Class Case #10A

Chapter 10

Kelly, Inc. receives inventory on Mondays of each week.  It makes sales throughout the week, but records sales on a weekly basis on Fridays.  Kelly has a beginning inventory of 4,000 purchased at $5 each.  Kelly, Inc.’s suppliers do not offer discounts.  The following purchases and sales were recorded during March.  The selling price is $10 per unit.  Operating expenses are $50,000 and the tax rate is 20 percent.
       Purchases

     Sales

March 2






3,000 units

March 5


8,000 units at $6
March 9






7,000 units

March 12


6,000 units at $7
March 16






4,000 units

March 19


5,000 units at $8


March 23






1,000 units

March 26


2,000 units at $9
March 30






9,000 units

Required:


1.
Determine the cost of goods sold, net income, and ending inventory using FIFO.

2.
Determine the cost of goods sold, net income, and ending inventory using LIFO.

3.
Assume that all expenses, inventory purchases, and revenues are paid or received in cash.  What is the operating cash flow using FIFO versus LIFO?

Team ________________________

Member(s) absent ______________

In-Class Case #10B

Chapter 10

Kelly, Inc. receives inventory on Mondays of each week.  It makes sales throughout the week, but records sales on weekly basis on Fridays.  The following sales were recorded in March.  Each unit sells for $12 and all sales are on account.

March 2
3,000 units sold (cost of goods sold = $24,000)

March 9
5,000 units sold (cost of goods sold = $40,950)

March 16
6,000 units sold (cost of goods sold = $50,400)

March 23
5,500 units sold (cost of goods sold = $47,775)

March 30
6,500 units sold (cost of goods sold = $57,825)

Required:

1.
Make the journal entries to record the above events.

2.
Make the journal entry to record the collection of the March 2 sale assuming a 2 percent discount is taken.

3.
Make the journal entry to record the collection of the March 9 sale assuming no discount is taken.

4.
Make the journal entry to record the return of the March 16 sale.

Team ______________________

Member(s) absent ____________

In-Class Case #10C

Chapter 10

Harrison Company shows the following information concerning its net realizable value of accounts receivable.







  Ending

Beginning
Accounts receivable



$750,000

$625,000

Allowance for uncollectible accounts

    80,000

    60,000

During the period, sales were $2,550,000, sales returns and allowances were $35,000, sales discounts were $40,800.  The uncollectible accounts expense for the period was $25,000 and $5,000 of accounts were written off as uncollectible.  How much cash was received from customers?

Team __________________________

Member(s) absent ________________

In-Class Case #11A

Chapter 11

Using the Time Value of Money Tables to Solve Problems

1.
You want to invest $10,000 today to accumulate to $16,000 for graduate school.  If you can earn 10 percent annually, how many years will it take to accumulate the required amount?

2.
You invest $1,000 in an investment account earning 10% annual interest.  What is the investment worth after 3 years?

3.
You want to invest $10,000 per year for the next 3 years.  The investment account is expected to earn 10 percent annually.  What will the investment be worth in 3 years?

4.
You want to buy a new car for $20,000.  You make a down payment of $6,000 and finance the remainder for 36 months at 12 percent annual interest.  What is the amount of your monthly payment?

5.
You want to borrow $700 and make 4 annual installment payments beginning one year from today.  If the bank demands an 8 percent return, what is the amount of your annual payment?  
6.
You want to borrow $500 today and promise to repay $605 in 2 years.  What is the effective annual interest rate?

7.
You want to be a millionaire.  Your investment account has a balance of $76,277.71 and is expected to earn 10 percent annually.  Approximately how many years will it take to achieve your goal?

8.
You borrow $42,210 and must make annual payments of $6,583 for 10 years.  What is the approximate interest rate you are being charged?

9.
You need $47,500 in 10 years.  You have $16,729 to invest.  What is the approximate interest rate you must earn to achieve your goal?

10.
You borrow $67,000 and must repay it plus 12 percent interest in 10 years.  How much money will you owe in 10 years?

Team __________________________

Member(s) absent ________________

In-Class Case #11B

Chapter 11

Using Financial Calculators to Solve Time Value of Money Problems

1.
You want to buy a car.  You can afford monthly payments of $450 for 3 years.  The bank charges 6.75 percent annual interest.  What is the maximum price you can pay for the car?

2.
You want to retire as a millionaire.  You can put $2,000 in an investment account today and add $150 each month.  If your investments earn 5.5 percent annually, how many years before you can retire?

3.
You need to borrow money for college.  You can pay it back at the rate of $200 per month with a balloon payment (lump-sum at the end of the loan) of $5,000 when you graduate in 4 years.  If the bank charges 8 percent annual interest, how much money can you borrow?

4.
You just won the lottery.  You can receive your prize in one of three ways: (1) $500,000 cash immediately, (2) $100,000 cash immediately and $90,000 annually for 5 years, or (3) $120,000 annually for 5 years.  Which option should you choose if you can earn 8 percent annually?

5.
You just signed a promissory note and received $100,000 at 7 percent annual interest for 8 years.  If your payments are made quarterly, what is the amount of each payment?

6.
You just signed a promissory note agreeing to pay the bank a lump-sum payment of $100,000 in 8 years.  The bank charges 7 percent annual interest.   How much money will you receive today?

7.
You just signed a promissory note agreeing to pay the bank $5,600 every six months and $160,000 at the end of 8 years.  The bank charges 6 percent annual interest.  How much money will you receive today?

8.
You are considering the purchase of an investment portfolio software system.  You expect this software system to earn you $2,500 per year for the next 5 years.  If you can earn 7 percent on your investments, what is the maximum amount you should pay for the software system?

Team ______________________________

Member(s) absent ____________________

In-Class Case #12A

Chapter 12

Storey, Inc. is considering the purchase and installation of new manufacturing equipment to replace its old, worn-out equipment.  The following information is available.

1.
Useful life of the new equipment, 8 years.

2.
Cost of new equipment, $3,600,000.

3.
Cost to set up new equipment, $200,000.

4.
Estimated selling price of the new equipment at the end of its useful life, $60,000.

5.
Annual operating savings, $700,000.

6.
Working capital investment required, $600,000.  This amount will be released at the end of the project.

7.
Upgrade expense to the equipment at the end of the 5th year, $200,000.

8.
Cost of the old equipment is $900,000 while the accumulated depreciation is $500,000 and the estimated market value is $300,000.

9.
Tax rate is 25%.  Cost of capital is 10%.

Required:
Should Storey invest in the new equipment?

Team __________________________

Member(s) absent ________________

In-Class Case #12B

Chapter 12

Storey, Inc. is considering the purchase and installation of new manufacturing equipment to replace its old, worn-out equipment.  The following information is available.

1.
Useful life of the new equipment, 8 years, depreciated according to the following IRS schedule:

.


Year 1

20.0%

Year 4

11.5%




Year 2

32.0%

Year 5

11.5%




Year 3

19.2%

Year 6

  5.8%

2.
Cost of new equipment, $3,000,000.

3.
Cost to set up new equipment, $600,000.

4.
Estimated selling price of the new equipment at the end of its useful life, $30,000.

5.
Annual operating savings, $800,000.

6.
Working capital investment required is $750,000.  This amount will be released at the end of the project.

7.
The cost of the old equipment is $900,000.  The accumulated depreciation is $500,000.  The expected selling price is $350,000.

8.
Tax rate is 25%.  Cost of capital is 10%.

Required:
Should Storey invest in the new equipment?

Team ___________________________

Member(s) absent _________________

In-Class Case #13A

Chapter 13

Lay, Skilling, Fastow, and Duncan contribute $10,000; $40,000; $80,000; and $20,000; respectively, to the partnership of Raptors, Inc.  Raptors, Inc. is expected to earn a net income of $50,000.  The partnership agreement calls for the following profit distribution.


Lay

Salary allowance of $25,000


Skilling
Interest allowance of 10 percent on beginning capital balance


Fastow

Interest allowance of 15 percent on beginning capital balance


Duncan
Salary allowance of $15,000


Remainder
Remainder is distributed evenly.
Required:

1.
Show how the net income would be allocated among the partners and determine the projected ending balances of the partners’ capital accounts.
2.
Show how a net income of $10,000 would be allocated among the partners and determine the projected ending balances of the partners’ capital accounts.


Team ____________________________

Member(s) absent __________________

In-Class Case #13B

Chapter 13

ABC Corporation is authorized to issue 10 million shares of $1 par value common stock and 800,000 shares of 6%, $10 par value cumulative, convertible, preferred stock.  Hint: Watch the dates and assume there are no other events during the year.
1.
If ABC issues 100,000 shares of common stock for $12 per share and 10,000 shares of preferred stock for $30 per share on January 1, 2004, what would be the amount of the legal capital shown on the pro forma balance sheet?

2.
If, on December 15, 2005, the Board of Directors declares a cash dividend of $139,000 to stockholders of record on December 23, payable on December 31, what is the amount of dividend received per share for common stockholders?

3.
Assume ABC distributes a 20% stock dividend on September 1, 2006.  How many shares of common stock would be authorized, issued, and outstanding after the distribution?

4.
Assume that ABC buys back 5,000 shares of common stock for $20 per share on October 1, 2007.  How many shares of common stock would be authorized, issued, and outstanding after the treasury stock is purchased?

5.
Assume that all the preferred stock is converted at the rate of 1 for 3 to common stock on March 1, 2008.  How many shares of common stock are authorized, issued, and outstanding after the conversion?  

Team __________________________

Member(s) absent ________________

In-Class Case #14A

Chapter 14

1.
You need $500,000 that you will repay over a period of 10 years.  The interest rate is 8 percent.  You will make annual payments of interest and principal.


a.
How much money will you receive when you sign the promissory note?


b.
How much will your annual payments be?


c.
How much of your first 2 annual payments will be interest?



2.
You have just signed a 10-year $500,000 face value, noninterest-bearing note.  The bank requires a 8 percent annual return on its money.


a.
How much money will you receive when you sign the promissory note?


b.
How much will your annual payments be?


c.
How much interest is incurred the first 2 years?

Team ____________________________

Member(s) absent __________________

In-Class Case #14B

Chapter 14

1.
Your company is considering a $500,000; 5-year bond issue.  The bonds have a face rate of interest of 8 percent paid semiannually.  The market rate of interest is 7 percent.


a.
How much cash would be received if the bonds are issued?


b.
How much would the periodic payment be?


c.
What would be the amount of interest expense for the first year?

2.
Your company is considering a $500,000; 5-year bond issue.  The bonds have a face rate of interest of 8 percent paid semiannually.  The market rate of interest is 9 percent.


a.
How much cash would be received if the bonds are issued?


b.
How much would the periodic payment be?


c.
What would be the amount of interest expense for the first year?

Team ______________________________

Member(s) absent ____________________

In-Class Case #15A

Chapter 15

During the year, ABC Company experienced the following activity.


1.
Issued 50,000 shares of $2 par value common stock for $25 per share.

2.
Issued 10,000 shares of $50 par, 8 percent, cumulative preferred stock for $75 per share

3.
Bought 2,000 shares of common stock for $20 per share to be held as treasury stock.


4.
Reissued 1,500 shares of treasury stock for $30 per share.


5.
Earned income of $400,000


6.
Declared and paid a cash dividend of $150,000

Make journal entries to record these events and show how the events would be reported on ABC’s financial statements.

Team _______________________________

Member(s) absent _____________________

In-Class Case #15B

Chapter 15

On May 1, 2009, your company issued 8-year, 7 percent interest bonds with a face value of $100,000.  The bonds pay interest on May 1 and November 1.  The market rate of interest was 8 percent when the bonds were issued.  Make entries for 2009 and 2010 and indicate how these events affect your company’s financial statements issued on December 31, 2009 and December 31, 2010.

Partial Amortization Schedule

	Period
	Payment
	Interest
	Discount Decrease
	Carrying Value

	 
	 
	 
	 
	94,173.85

	1
	3,500.00
	3,766.95
	266.95
	94,440.80

	2
	3,500.00
	3,777.63
	277.63
	94,718.44

	3
	3,500.00
	3,788.74
	288.74
	95,007.17

	4
	3,500.00
	3,800.29
	300.29
	95,307.46

	5
	3,500.00
	3,812.30
	312.30
	95,619.76

	6
	3,500.00
	3,824.79
	324.79
	95,944.55

	7
	3,500.00
	3,837.78
	337.78
	96,282.33

	8
	3,500.00
	3,851.29
	351.29
	96,633.62


Team ___________________________

Member(s) absent _________________

In-Class Case #15C

Chapter 15

On October 1, 2009, your company signed a $400,000, 3-year, noninterest-bearing note.  The market rate of interest was 10 percent when the note was signed.  Make the journal entries required over the life of this note and indicate how your company’s December 31 financial statements are affected by this note.

	Noninterest-bearing Note Payable Amortization

	Period
	Interest
	Discount Left
	Carrying Value

	
	
	35,006.86
	64,993.14

	1
	5,849.38
	29,157.48
	70,842.52

	2
	6,375.83
	22,781.65
	77,218.35

	3
	6,949.65
	15,832.00
	84,168.00

	4
	7,575.12
	8,256.88
	91,743.12

	5
	8,256.88
	0.00
	100,000.00


Team _________________________________

Member(s) absent _______________________

In-Class Case #16A

Chapter 16

On April 15, your company purchased equipment for $280,000 and paid $20,000 of freight and installation.  The equipment has an estimated useful life of 10 years or 580,000 units with an expected disposal value of $10,000.  Your company has a December 31 year-end and uses the midyear convention for all assets purchased during the year.  Make the entries for the first 2 years, including the purchase, using each of the following depreciation methods.


1.
Straight-line


2.
Double-declining balance

3.
Units-of-production (production is 37,000 and 53,000, respectively for the first 2 years)

Team __________________________________

Member(s) absent ________________________

In-Class Case #16B

Chapter 16

Your company has a van with an original cost of $28,400 and accumulated depreciation of $17,750.  Make the journal entries required under each of the following assumptions.


1.
The van is sold for $8,000 cash.


2.
The van is sold for $12,000 cash.


3.
The van is sold for $5,000 cash and inventory valued at $10,000.

4.
The van is traded for a new van with a list price of $40,000.  The dealer gives you a trade-in allowance of $15,000.

5.
The van is traded for a new van with a list price of $35,000.  The dealer gives you a trade-in allowance of $7,000.

Team ______________________________________

Member(s) absent ____________________________

In-Class Case #17A

Chapter 17

Use the information shown below adapted from the Hewlett-Packard 2008 Annual Report to prepare an income statement.  All numbers shown are in millions.

	Accounts payable
	14,138

	Accounts receivable
	19,242

	Accumulated depreciation
	3,802

	Accumulated other comprehensive loss
	65

	Additional paid-in capital
	14,012

	Cash and cash equivalents
	10,153

	Common stock
	24

	Cost of products sold
	69,342

	Cost of services
	20,250

	Deferred revenues
	6,287

	Depreciation & amortization expense
	967

	Employee compensation and benefits (liability)
	4,159

	Gain on sale of short-term investment
	370

	Goodwill
	32,335

	Intangible assets
	7,962

	Interest expense
	329

	Inventory
	7,879

	Long-term debt
	7,676

	Notes payable and short-term borrowings
	10,176

	Other accrued liabilities
	18,179

	Other current assets
	14,361

	Other long-term assets
	14,270

	Other long-term liabilities
	13,774

	Other operating expenses
	356

	Property, plant and equipment
	10,838

	Provision for income taxes
	2,144

	Research & development
	3,543

	Retained earnings
	24,971

	Sales
	91,697

	Selling and general administrative expense
	13,104

	Service revenue
	26,297

	Short-term investments
	93


Team ______________________________________

Member(s) absent ____________________________

In-Class Case #17B

Chapter 17

ABC Company is in its second year of operations.  During its first year, it produced 100,000 units and sold 80,000 units.  Its operating information for the first year is shown below:

Selling price per unit



$100

Direct materials cost per unit


    30

Direct labor cost per unit


    20

Unit-related overhead cost per unit

    10

Facility-sustaining (production) cost



$800,000

Selling and administrative cost per unit
     5

Selling and administrative facility cost


  420,000

During ABC’s second year, it again produced 100,000 units, but it sold 120,000 units.  Its operating information for the second year is shown below:

Selling price per unit



$100

Direct materials cost per unit


    35

Direct labor cost per unit


    25

Unit-related overhead cost per unit

    15

Facility-sustaining (production) cost



$900,000

Selling and administrative cost per unit
     5

Selling and administrative facility cost


  450,000

Prepare income statements for the second year using absorption, unit-variable, and throughput accounting.

Team _________________________________

Member(s) absent _______________________

In-Class Case #18A

Chapter 18

Use the information shown below adapted from the Hewlett-Packard 2008 Annual Report to prepare an income statement.  All numbers shown are in millions.

	Accounts payable
	14,138

	Accounts receivable
	19,242

	Accumulated depreciation
	3,802

	Accumulated other comprehensive loss
	65

	Additional paid-in capital
	14,012

	Cash and cash equivalents
	10,153

	Common stock
	24

	Cost of products sold
	69,342

	Cost of services
	20,250

	Deferred revenues
	6,287

	Depreciation & amortization expense
	967

	Employee compensation and benefits (liability)
	4,159

	Gain on sale of short-term investment
	370

	Goodwill
	32,335

	Intangible assets
	7,962

	Interest expense
	329

	Inventory
	7,879

	Long-term debt
	7,676

	Notes payable and short-term borrowings
	10,176

	Other accrued liabilities
	18,179

	Other current assets
	14,361

	Other long-term assets
	14,270

	Other long-term liabilities
	13,774

	Other operating expenses
	356

	Property, plant and equipment
	10,838

	Provision for income taxes
	2,144

	Research & development
	3,543

	Retained earnings
	24,971

	Sales
	91,697

	Selling and general administrative expense
	13,104

	Service revenue
	26,297

	Short-term investments
	93


Team _____________________________________

Member(s) absent ___________________________

In-Class Case #18B

Chapter 18

For each of the accounts listed below, determine whether it appears on the income statement or the balance sheet.  Then classify the account using the following:

Balance Sheet



Income Statement

Current asset



Revenue

Investment



Expense

Property, plant & equipment

Other revenue

Intangible



Other expense

Other asset



Net-of-tax item

Current liability


Other disclosure (EPS)

Long-term debt

Other liability

Contributed capital

Retained earnings

Accumulated comprehensive income item

Treasury stock

1.
Accounts payable

2.
Accounts receivable

3.
Accumulated depreciation

4.
Allowance for uncollectible accounts

5.
Amortization expense

6.
Bonds payable

7.
Buildings

8.
Cash

9.
Common stock

10.
Copyright

11.
Cost of goods sold

12.
Cumulative effect of accounting change

13.
Deferred income tax liability

14.
Depreciation expense

15.
Diluted earnings per share

16.
Discontinued operations

17.
Discount on notes payable

18.
Discounts lost

19.
Dividend revenue

20.
Dividends payable

In-class Case #18B Continued

21.
Earnings per share

22.
Extraordinary loss

23.
Federal income taxes withheld

24.
FICA taxes payable

25.
Finished goods inventory

26.
Gain on sale of equipment

27.
Goodwill

28.
Held-to-maturity securities

29.
Income tax expense

30.
Income taxes payable

31.
Installment note payable

32.
Interest earned

33.
Interest expense

34.
Interest payable

35.
Interest receivable

36.
Interest revenue

37.
Inventory

38.
Investment in ABC stock

39.
Land held for expansion

40.
Land held for speculation

41.
Lease payable

42.
Leasehold improvements

43.
Loss on sale of machinery

44.
Marketable securities

45.
Merchandise inventory

46.
Mortgage bonds payable

47.
Noninterest-bearing notes payable

48.
Note receivable

49.
Paid-in-capital

50.
Payroll tax expense

51.
Prepaid rent

52.
Raw materials inventory

53.
Rent expense

54.
Rent revenue

55.
Retained earnings

In-class Case #18B Continued

56.
Salaries payable

57.
Salaries expense

58.
Sales

59.
Sales discount

60.
Sales returns and allowances

61.
Trademark

62.
Trading securities

63.
Treasury stock

64.
Uncollectible accounts expense

65.
Unearned subscriptions

66.
Unrealized gain on held-to-maturity securities

67.
Unrealized loss on trading securities

68.
Wage expense

69.
Wages payable

70.
Work-in-process inventory

Team _________________________________

Member(s) absent _______________________

In-Class Case #19A

Chapter 19

Case 1 Company

Balance Sheets

December 31, 2010 and 2009
(in millions)

	
	2010
	2009

	Cash
	$30
	$66

	Accounts receivable
	600
	420

	Inventory
	500
	392

	Prepaid expenses
	14
	30

	Long-term investments
	180
	240

	Property, plant & equipment
	1,720
	1,500

	Accumulated depreciation
	(420)
	(380)

	Total assets
	$2,624
	$2,268

	
	
	

	Accounts payable
	$550
	$460

	Accrued liabilities
	16
	30

	Income taxes payable
	84
	78

	Bonds payable
	400
	200

	Common stock
	1,190
	1,200

	Retained earnings
	384
	300

	Total liabilities & 
Stockholders’ equity
	$2,624
	$2,268


Case 1 Company

Income Statement

For the Year Ending December 31, 2010
(in millions)

	
	2,010

	Sales
	$1,600

	Cost of goods sold
	1,000

	Gross margin
	$600

	Depreciation expense
	120

	Miscellaneous expense
	308

	Operating income
	$172

	Gain on sale of investment
	40

	Loss on sale of investment
	(12)

	Income before income taxes
	$200

	Provision for income taxes
	60

	Net income
	$140


In-class Case #19B Continued

Additional information:

a.
Case 1 Company sold an investment with an original cost of $60 million.

b.
Equipment that had a cost of $180 million and on which there was $80 million in accumulated depreciation was sold during the year.

c.
Stock was repurchased and retired during the year.  No stock was issued.

Required:

1.
Determine operating cash flows using the direct method.

2.
Determine operating cash flows using the indirect method.

3.
Determine investing cash flows.

4.
Determine financing cash flows.

Team ________________________________

Member(s) absent ______________________

In-Class Case #19B

Chapter 19

The following information was adapted from Hewlett-Packard’s 2008 financial statements.  All amounts are shown in millions.






          Ending   Beginning

	Cash and cash equivalents
	$10,153
	$11,293

	Short-term investments
	93
	152

	Accounts receivable
	19,242
	15,927

	Inventory
	7,879
	8,033

	Other current assets
	14,361
	11,997

	     Total current assets
	$51,728
	$47,402

	Property, plant and equipment
	10,838
	7,798

	Accumulated depreciation
	(3,802)
	(3,435) 

	Other long-term investments
	14,270
	14,894

	Intangible assets
	7,962
	4,079

	Goodwill
	32,335
	17,961

	Total assets
	$113,331
	$88,699


	Notes payable and short-term borrowings
	$10,176
	$3,186

	Accounts payable
	14,138
	11,787

	Employee compensation and benefits
	4,159
	3,465

	Deferred revenues
	6,287
	5,025

	Other accrued liabilities
	18,179
	15,797

	     Total current liabilities
	$52,939
	$39,260

	Long-term debt
	7,676
	4,997

	Other long-term liabilities
	13,774
	5,916

	     Total liabilities
	$74,389
	$50,173

	Common stock
	24
	26

	Additional paid-in capital
	14,012
	16,381

	Retained earnings
	24,971
	21,560

	Accumulated other comprehensive gain (loss)
	(65)
	559

	Total liabilities & stockholders' equity
	$113,331
	$88,699


	Sales
	$91,697

	Service revenue
	26,297

	Cost of goods sold
	69,342

	Cost of services sold
	20,250

	Gross margin
	$28,402

	Depreciation & amortization expense
	967

	Interest expense
	329

	Research & development
	3,543

	Selling and general administrative expense
	13,104

	Other operating expenses
	356

	Income from continuing operations
	$10,103

	Gain on sale of short-term investment
	370

	Income before income taxes
	$10,473

	Provision for income taxes
	2,144

	Net income
	$8,329


In-class Case #19B Continued

Additional information:

1. A short-term investment with an original cost of $59 million was sold during the period.
2. Amortization expense was $600 million while depreciation expense was $367 million for the period.  

3. No intangibles were sold during the period.
4. Service Revenue is associated with the Deferred Revenue account.

5. There was an unrealized loss on the long-term investments of $624 for the period.

HINTS:

1. Use Cost of Services Sold and Selling & General Administrative Expense in the Employee Compensation and Benefits account.

2. Use Interest Expense and Research & Development in the Other Current Asset account.

3. Use Other Operating Expenses and Provision for Income Taxes in the Other Accrued Liabilities account.

Required:

1.
Determine operating cash flows using the direct method.

2.
Determine operating cash flows using the indirect method.

3.
Determine investing cash flows.

4.
Determine financing cash flows.

Team __________________________________

Member(s) absent ________________________

In-Class Case #20A

Chapter 20

Balance Sheets

December 31, 2010 and 2009
(in millions)

	
	2010
	2009

	Cash
	$30
	$66

	Accounts receivable
	600
	420

	Inventory
	500
	392

	Prepaid expenses
	14
	30

	Long-term investments
	180
	240

	Property, plant & equipment
	1,720
	1,500

	Accumulated depreciation
	(420)
	(380)

	Total assets
	$2,624
	$2,268

	
	
	

	Accounts payable
	$550
	$460

	Accrued liabilities
	16
	30

	Income taxes payable
	84
	78

	Bonds payable
	400
	200

	Common stock
	1,190
	1,200

	Retained earnings
	384
	300

	Total liabilities & 
Stockholders’ equity
	$2,624
	$2,268


Income Statement

For the Year Ending December 31, 2010
(in millions)
	
	2010

	Sales
	$1,600

	Cost of goods sold
	1,000

	Gross margin
	$600

	Depreciation expense
	120

	Miscellaneous expense
	308

	Operating income
	$172

	Gain on sale of investment
	40

	Loss on sale of investment
	(12)

	Income before income taxes
	$200

	Provision for income taxes
	60

	Net income
	$140


Required:
Calculate all ratios.

Team ________________________________

Member(s) absent ______________________

In-Class Case #20B

Chapter 20

The following information was adapted from Hewlett-Packard’s 2008 financial statements.  All amounts are shown in millions.






          
         Ending   Beginning

	Cash and cash equivalents
	$10,153
	$11,293

	Short-term investments
	93
	152

	Accounts receivable
	19,242
	15,927

	Inventory
	7,879
	8,033

	Other current assets
	14,361
	11,997

	     Total current assets
	$51,728
	$47,402

	Property, plant and equipment
	10,838
	7,798

	Accumulated depreciation
	(3,802)
	(3,435) 

	Other long-term investments
	14,270
	14,894

	Intangible assets
	7,962
	4,079

	Goodwill
	32,335
	17,961

	Total assets
	$113,331
	$88,699


	Notes payable and short-term borrowings
	$10,176
	$3,186

	Accounts payable
	14,138
	11,787

	Employee compensation and benefits
	4,159
	3,465

	Deferred revenues
	6,287
	5,025

	Other accrued liabilities
	18,179
	15,797

	     Total current liabilities
	$52,939
	$39,260

	Long-term debt
	7,676
	4,997

	Other long-term liabilities
	13,774
	5,916

	     Total liabilities
	$74,389
	$50,173

	Common stock
	24
	26

	Additional paid-in capital
	14,012
	16,381

	Retained earnings
	24,971
	21,560

	Accumulated other comprehensive gain (loss)
	(65)
	559

	Total liabilities & stockholders' equity
	$113,331
	$88,699


	Sales
	$91,697

	Service revenue
	26,297

	Cost of goods sold
	69,342

	Cost of services sold
	20,250

	Gross margin
	$28,402

	Depreciation & amortization expense
	967

	Interest expense
	329

	Research & development
	3,543

	Selling and general administrative expense
	13,104

	Other operating expenses
	356

	Income from continuing operations
	$10,103

	Gain on sale of short-term investment
	370

	Income before income taxes
	$10,473

	Provision for income taxes
	2,144

	Net income
	$8,329


Required:
Calculate all ratios.
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